Class:9th

Test:Biology

Attempt ......... questions

' How much light is absorbed falling on
leaf surface during photosynthesis:

a) 1% b) 2%

c) 3% d) 4%

Process of glycolysis is found in -
b) Cytoplasm

a) Ribosomes

c¢) Golgi Complex d) Vacuole
Calvin got Nobel Prize in:

a) 1961 b) 1971
c) 1985 d) 1991
* The greatest fuel of energy for cullular
respiration:
a) Glucose b) Protein
¢) Amino acid d) Lipids
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The sites of Aerobic Respitation are:
a) Mitochondria b)  Plastids

¢) Lysosomes @) Centrioles

In which processtoxygen is released as a
by-product:

a) Photosynthesis b) Respiration

c) Fermentation d) Reproduction

Through which process organisms get
energy:
a) Photosynthesis b) Respiration

c¢) Transpiration d) Evaporation

Stomata cover only oo of the leaf
surface:

a) 1-2% b) 2-3%

c) 3-4% d) 4-5%
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